
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 656

35 m = 3500 cm

54 km = 54000000 mm

56 m = 56000 mm

14 m = 140 dm

52 hm = 520000 cm

50 m = 50000 mm

25 m = 250 dm

70 km = 700000 dm

88 km = 8800000 cm

3 dam = 3000 cm

21000000 cm = 210 km

46000000 m = 46000 km

50000 dm = 500 dam

41000000 cm = 410 km

170000 dm = 1700 dam

75000000 dm = 7500 km

400000 mm = 40 dam

25000000 mm = 25 km

760000 m = 76000 dam

990000 mm = 99 dam

8 dam  et 96 mm = 80096 mm

60 dam  et 46 dm = 6046 dm

76 km  et 66 dm = 760066 dm

99 hm  et 39 cm = 990039 cm

90 km  et 28 cm = 9000028 cm

51 dam  et 99 mm = 510099 mm

11 hm  et 71 cm = 110071 cm

44 hm  et 20 mm = 4400020 mm

3 m  et 38 dm = 68 dm

16 hm  et 54 mm = 1600054 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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